/“comon:  Masalah Nilai Awal I
y'+y-2y=0, y(0)=4, y'(0)=-5

Langkah 1:
A+1-2=0
21=_1+ 15 _1 dan /12:_1_“1+8:_4
2 2
PU. y=ce*+c,e™
Langkah 2: y(0)=c¢, +c, =4 j} c, =1
y'=ce’ — 2C2C_2X y'(0)=c,—2¢c, =-5 C, =

\_ PK y=e*+3¢c™ )
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PU. y=e*(Acos2x + Bsin 2x)
Langkah 2:
y(0)=A+0=1 A=1
y'=e*(— Acos2x — Bsin 2x — 2 Asin 2x + 2B cos 2x)
v'(0)=—-A+2B=-1+2B =5 B=3

k P.K. y =e*(cos2x+3sin 2x)

y'+2y'+5y =0, y(0) =1 y'(0)=5
Langkah 1:
A +21+5=0
11:_2+”24_20:—1+j2 dan /12=2_ 3_20=—1—12

/
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Pembentukan Model Rangkaian Listrik

?i E.=IR
di
E =L—
R L - dt
1 dQ
E.==0Q, I{t)=—7
[ c CQ (t) it

E(t) = E, sin ot
E, +E;+E.=E(t)
U4M+3{umﬁ=Eﬂmm

@+—I_E@atau LQ"+RQ+ Q @
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/ LI"+RIt = | = E,c0s ot \
C

LA2* +RA +é= 0 ay"+by'+cy = r(x)
A=a+ B, L=a-])p
At Aot
R 5 RI-4LC f) lh =Ce™ +Ce”
ad=———-, —
2L 2L —E.S ES
Ip:Kcosa)t+Msina)t K= > 02 M = 20 2
R“+S R°+S

1
S =wlL - P (S = reaktansi)

= lysin(at-0)  tano=—K =3 Q =1, +1,
I, =VKZ2+M? = = <! |mpedanS|j
0

JR? +8? - /
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/Contoh : \
R=100Q, L=01henry, C =10 farad

E(t)=155sin377t  1(0)=0, Q(0)=0

0,11"+1001'+10001 =155-377sIin 377t ;C;
1
S=37/,———=35 L
0,377 RZ

| (t) = Kcosawt + M sin wt _ ? ) sin

_ —1;'-35-352 0484 M = —15;5-10(2) _1380

100° + 35 100° + 35
0,14° +1004 +1000=0
—10t —990t
A =-10 A, =-990 |, (t)=ce ™ +c,e

u (t) =ce™® +c,e " —0,484c0s377t +1,380sin 377t /
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1(0)=c,+¢,-0484=0 o O O
Q(0)=0

=2 {E(t) Rl(t)—Q(t)}

E(0)=0, 1(0)=0, Q(0)=0, jadi 1'=0
1'(t) = —10c,e ™ —990c,e ™ + (0,484)(377)sin 377t + (1,380)(377) cos 377t
1'(0) = —10c, —990c, + (1,380)(377) = 0

c,+ ¢,=0,484 g> ¢, =-0,042
—10c, —990c, =-520,26 ¢, =0,926

Qt) = —0,042e ™ +0,526e %" — 0,484 cos 377t +1,380sin 37ﬁ/

Kondisi awal
Arus 1(0)=0
Muatan Q(0) =0
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